SUPASWIFF>

18" MULCH & CATCH MOWER

IPL
\e SSU777AMC | SSU777KMC
\  SSU777HMC



18" MULCH & CATCH MOWER




18" MULCH & CATCH MOWER

ITEM PART NO. DESCRIPTION Qrty REMARK ITEM PART NO. DESCRIPTION aTty REMARK
1 SSP4010450 Upper handle 1 22 SSP4120560 Boss disc 1
2 SSP5010812 Knob 2 23 SSP3050310 Round disc 1
3 SSP4010480 handle of rear flap 1 24 SSP7020008A Nut 3/8 4
4 SSP5010811 Screw 2 25 SSP4161700 Washer "D" 4
6 SSP7030819 Washer 8 2 26 SSP4160690 Washer 4
7 SSP7130202 "R"Pin 4 27 SSP3010050 Swing blade 4
8 SSP7051006 Spring 1 28 SSP7181070 Screw 4
9 SSP8011030 8" wheel 4 29 SSP7031017 Washer 1
10 SSP7060015 Bearing 201 8 30 SSP7010029A Center bolt 1
11 SSP4050130 Asy connecting handle 1 31 SSP4280130 Fixed spring right 2
12 SSP7051517 Spring 1 32 SSP7081251 Axle cover 4
13 SSP7030810 Nylon washer 2 33 SSP4219630 Asy front axle 1
14 SSP7120190 Nylon cover 2 34 SSP7030602 Spring washer 6 4
15 SSP4280120 Fixed spring left 2 FOR 757KC(SNZ..E....)
FOR 757KC(SN:..E.... FOR 757HMC(SN:..F...)
FOR 757LC(SN-. D...) FOR 777LC(SN:..X.....)
FOR 777LOSN:. X.... SSP4062010 Wheel cap FOR 777KMC(SN:..A....)
17 SSP4160220 Washer 3 FOR 777KC(SN:..B....)
FOR 777KMCON-.A..) 35 4 FOR 778KMC(SN:..G....)
FOR 778KMC(SN-..G...) FOR 777AMC(SN:..C....)
FOR 777AMC(SN:..C....) FOR 777HMC(SN:..C....)
FOR 757KC(SN:..E....) SSPA062000 Wheel cap FOR 777KC(SN:..B....)
FOR 757LC(SN:..D.... FOR 757LC(SN:..D....
FOR 777LC(SN:..X....) 36 SSP4150280 Base plate 2
18 SSP7010018A Tap bolt 3 FOR 777KC(SN:..B....) 37 SSP7010820 Bolt M8x20 4
FOR 777KMC(SN:..A...) 38 SSP7020830 Locknut M8 8
FOR 777AMC(N..C..) 39 | ss40403ti H/ADJ rack 1
FOR 778KMC(SN:..G...) 40 SSP4210703 Asy Rear axle 1
19 SSP7110408 Woodruff key -
20 SSP7040002A Washer 1/4" ad S5P4150270 Spring plate !
21 SSP7010028A Bolt 1/4"-28xz 42 S5P7010674 Bolt MEx16 3




18" MULCH & CATCH MOWER

ITEM PART NO. DESCRIPTION aTy REMARK ITEM PART NO. DESCRIPTION aTy REMARK
43 SSP7020602 Locknut M6 5 61 SSP7210512 Ta%‘%';‘% ié[fw )
44 SSP4011262 H/ADJ handle 1 -
45 SSP7260635 Screw M6x16 4 62 SSP4120940 Nylon washer 1
46 SSP5010013 Handle cover 1 63 SSP7180812 Bolt M8x20 4
47 SSP4181360 Axle/rear flap ] 64 SSP4016460 Fixed handle 1
48 SSP4061530 Rear Flap 1 67 SSP4120750 Washer 1
49 SSP5070301 Throttle cable 1 68 SSP7030604 Big washer 6 4
50 SSP7260533 Screw M5x35 2 4 SSP7030601 Washer 6 2
51 SSP7020505 Locknut M5 3 75 SSP5070400 Asy throttle control 1
52 SSP7260516 Screw M5x25 1 [ SSP9120650 Clip 1
53 SSP7030501 Plate 5 5 Hook/grass catcher 1 FOR 777LC(SN:..X....)
54 SSP4090830 Handle 1 FOR 777KC(SN:..B....)
FOR 777LC(SN:..X....) SSP4190270-287C FOR 777KMC(SN:..A....)
FOR 777KC(SN:..B....) FOR 778KMC(SN.:..G.....)
SSPA0S0E0-267C verty FOR 777KMC(SN:..A...) 8 FF%F; Z;ﬁh&((::((ssnhll(é))
FOR778KMCSN.G.) ||  ¥—— 1t | TR /ALRL
55 1 FOR 777AMC(SN:..C...) Hook/grass catcher FOR 757LC(SN:..D....)
FOR 777HMC(SN:.C...) §5P4190270-3003 FOR 757KC(SN:..E...)
FOR 757LC(SN:..D....) FOR 757HMC(SN:..F....)
SSP4090820-3003 Overlay FOR 757KC(SN:..E...) 79 SSP7041002 Spring Washer 1
FOR 757HMC(SN:. F...) FOR 777LC(SN:..X...)
56 SSP4090840 Ventilated plate 1 FOR 777KC(SN:..B....)
57 SSP7260646 Screw M6x20 2 80 | SSP4240273-287C Deck 1 FOR 777KMC(SN:..A....)
58 SSP7020603 Locknut M6 2 FOR 778KMC(SN:..G....)
59 SSP4090801 Upper side 1 FOR 777AMC(SN:..C....)
60 SSP4090811 Down side 1 FOR 777HMC(SN:..C....)




18" MULCH & CATCH MOWER

ITEM PART NO. DESCRIPTION aty REMARK ITEM PART NO. DESCRIPTION aTy REMARK
FOR 757LC(SN:..D... FOR 757HMC(SN:..F...)
86 $SP2500009 GOV160S3AL 1
80 | SSP4240273-3003 Deck 1 FOR 757KC(SN:.E...) FOR 777HMC(SN:..C....)
FOR 757HMC(SN:..F....) 87 SSP4004083 Tapping screw 9
81 SSP4068560 Dust cover 4 5T4.8x20
82 $SP4271401 Bracket left 1 88 SSP4160220 Washer 4 FOR 777HMC(SN:..C...)
83 SSP4271411 Bracket right 1 FOR 757HMC(SN-. F...)
FOR 757HMC(SN:. F...) 89 SSP7010018A Tap bolt 4 FOR 777HMG(SN:. C...)
FOR 777KMCISN: A) FOR 757HMC(SN:..F...)
84 SSP4090860 Mulch plug 1 FOR 777AMC(SN:..C... 9 SSP4013410 Handle ’ FOR 777HMC(SN:..C...)
FOR 778KMOSN-.G.) FOR 757HMC(SN:..F...)
FOR 777HMC(SN:..C....) 95 SSP7260514 Screw 1 FOR 777HMOSH..C...
FOR 777LGSN- ) FOR 757HMC(SN:. F...)
FOR 777KC(SN:..B....) 96 SSP5072030 Brake cable 1 FOR 777HMO(EN: .C..)
SSP4090791-287C |  Asy Plastic catcher FOR 777KMC(SN:. A 97 SSP7010679 Bolt M6x12 4 PRI )
FOR 778KMC(SN:..G....
85 1 FOR 777AMC(SN:..C...
FOR 777HMC(SN:..C...)
FOR 757LC(SN:..D...
SSP4090791-3003 |  Asy Plastic catcher FOR 757KC(SN:..E...
FOR 757HMC(SN:..F...)
FOR 757KC(SN:..E...
SSP2502660 KOHLER 675 FOR 777KC(SN:..B....)
FOR 777KMC(SN:. A...
86 1 FOR 777AMC(SN:..C...
SSP2502113 LC1P61 FOR 757LC(SN:..D...)
FOR 777LC(SN:..X...)
SSP2500142 KOHLER 775 FOR 778KMC(SN:..G....




